OREDHIER

2y = E . a5 5 B [ W & H
BHA R RSB AEEA E%E | ®Y | 7HTE | sHem | eA7E | 7A1H | sAza | 9AiH | 10R4n | 10AsiH | 12AiA | 1H5H | 2A2A | 3A2H
1S BEENKRBEA] K 15REa Y KT — wt% 26.1 24.0 12.3 - - - 18.1 132 19.9 - - 211
RETRBOEE - wt% 19.0 2238 334 - - - 254 35.6 14.3 - - 31.1
Lo RE 10 wi% 2.0 26 1.7 - - - 2.9 1.6 22 - - 16
BHiinfhE= (RIRN—X) — kg/m 1280 1200 1240 - - - 1480 1410 1240 - - 1400
MAREE FBE~N—X) — kg/m 1090 1200 1220 - - - 1320 1400 1190 - - 1240
25 BEAIRBEENIR 25 REIDAY | KD wi% - 22.7 16.1 22.8 1.1 18.9 - - 16.7 18.0 17.2
IRBRBDEE wi% - 28.8 1.2 224 339 22.9 - - 16.9 26.5 29.3 -
ALeGRE Rt wt% - 1.9 2.9 29 2.6 28 - - 15 26 23
BHiighE s (RIRRN—X) keg/m - 1190 1050 1260 1340 1360 - - 1230 1490 1470 -
B EE BE—X) kg/m - 1150 1010 1190 1370 1200 - - 1210 1360 1320
3B BEANRBERN R 3ERBIUAY [ KD wt% 23.6 - - 219 13.3 5.9 18.2 135 - 19.4 17.0 17.9
RETHEBOEE wt% 279 - - 19.7 31.1 235 24.2 271 - 255 29.3 32.0
HLe<RE Rt wt% 20 - - 22 25 1.1 24 20 - 23 1.7 1.7
BHiiahEE (RIRN—X) kg/m 1270 - - 1220 1350 1300 1380 1450 - 1510 1520 1390
MAEEE BE~N—X) kg/m 1080 - - 1190 1350 1200 1300 1390 - 1350 1380 1190
REEEL, (RERYONERSERICET 552 OFEEETHD
b — s 4 P - W & H
i BRER- SRARIBAT AERE HEfE | B ZR1E | 6A7H [ GA11E | 10848 [ 1ZA1A [ 1ASH
IR (RLER) X1 CHERREO | KR {1 RE — — 12.2 121 12.0 125 128 132
ARSYLXEZDIEED 0.09 mg/L| 0.001Ki#| 0.0015K#%| 0.001%&#%| 0.001%K#| 0.0015FKi#E| 0.001kKH
NE7OLIEED 15 mg/L| 005%kKH| 005%kK#| 005%Ki#| 0.055%K#| 0.05%kKi#| 0.055%K#
STUEEW — me/L|  0.05%ki&| 005%ki#| 005%k:#| 0.05%K:#| 005%Ki#&| 0.05%K#&
KEXEZDEED 0.005 mg/L | 0.00055 | 0.00055k 5 | 0.00055K 5% | 0.00055K % | 0.00055k i | 0.00055k i
T7ILEILKEEEET REEhENCE meg/L| BREET| BREET| BRHEET| BREET| BEET| HEET
ELOXEZDIEED 0.3 mg/L|  001K5E| 001kKi| 001kKiE| 001K 001K 001K
AX[EZDEED 0.3 me/L|  001k&| 001k#| 001k#E| 001kK#E| 001kK#E| 001kK#F
MEXETZDEED 0.3 mg/L|  001kiE| 001Ki®| 001kKi#E| 001KiE| 001KME| 001KA
I EEELEED — me/L e [NES 1AL - 0.1ki& 0.1k% 0.1ki&
14-CFXH 0.5 meg/L| 005K:#| 005KH| 005K 005KiH| 005K 0.05KH]

X1 IRIZER AL KEMAEESEHET 50D X
X HEERERRELEEERABRELLI—(T1=vIREUE—) ITEIT2RARETHD.




